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A revista foi informada sobre um erro na equação 
que descreve o teorema de Bayes (p. 707). A equa-
ção correta é:
The journal has been informed of an error in the 
equation that describes the Bayes’ theorem (p. 
707). The correct equation is:
La revista fue informada sobre un error en la ecu-
ación que describe el teorema de Bayes (p. 707). 
La ecuación correcta es:

f(Ө|x)  f(Ө) x f(x|Ө).

A revista foi informada sobre um erro no oitavo 
parágrafo da seção A Practical Example: Estima-
ting Disease Prevalence (p. 707). O parágrafo cor-
reto é:
The journal has been informed of an error in the 
eighth paragraph of the section A Practical Exam-
ple: Estimating Disease Prevalence (p. 707). The 
correct paragraph is:
La revista fue informada sobre un error en el oc-
tavo párrafo de la sección A Practical Example: 
Estimating Disease Prevalence (p. 707). El párrafo 
correcto es:

Let us suppose a sample of size n = 100 individu-
als from the population of interest, of which 22 
individuals have the disease in interest. The maxi-
mum likelihood estimate for θ is given by 22/100 =  
22%. Considering the Bayesian approach, the 
posterior distribution for θ is proportional to

,
since a = 4.96, b = 23.45,  and n = 100. Thus, 
f(Ө|x) follows a beta distribution with parameters 
26.96 and 101.45.
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